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f(x) =
x

x2 + 4
.
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A = {(x, y) ∈ R
2 : x·y ≤ 1}, B = {(x, y) ∈ R

2 : x ≥ y2}, C = {(x, y) ∈ R
2 : x2 ≤ 8y}.
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0 < x < π
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µ } xY� �	|~}T�
A = {(k, l) ∈ Z

2 : |k| ≤ 4 ∧ |l| ≤ 4}
z �*®Y� ��� ���*�¶�n|��T� y �����c�

(k, l) ∼ (m, n) ⇔ |k| + |l| = |m| + |n|.
µ ��s y } y	{	��­ �'��� � tNt~�5|~�*� y ��� y |~�a���Y�a� y	­ �Y�	�~� � � w � y �S�T« {·� � y |�� � �a� yc{ � � }*� � t~s � �¸s�� y	� � y	xY� tG| y s	��� �
tG����|��T� y ��� � �
| y }5r�� z!yc{7� ���P� � �*} x �	�

MN� > �!$�"%��iZF)q �a¹b�	rYs�tu��v
 \y ���4��� � t � }*�T|~�*�Y�

∞
∑

n=1

n(n + 1)

2n
.

µ ��sc�
� y	{ ��� z �b��}2r��
� �S­T� }¦�����.r��
���*�T�Tºo�
» v wox!y	z!y	{ } xb� � ­ �Y�
� { |��
}*� y	­uy �Y�T�
� � }T�*|~�*� � �
| y } �bz �a�·� z � �S{m� � zY� sc�*�u��� � �m� y	� tG�Tr � �~�	�*�

��}T�
|�� y ����| y }4�
�	�
������� � ��� �P�~� ���T}*�T�~� � �a�������.tG�*�
� � }T�*|~�*� � �

sn =
2n+3 − n2 − 5n − 8

2n
.
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